pdla 43 ) ga a 93 Jucald

g_g’l"'“"“‘ wj‘g ugd.s LS‘ dl}).og_iqwodto 6\4)
Lgsl.a.om u“j‘ﬁl"é‘ c\bfogSJWoOLo d..s)

R S S



ugj\.su

‘WLQLQ))A Ja.o.us.a 4S5 axJlas Q)s.o odsm W

AUWUSNE Lgst)‘),o )‘ C)B' Ja.,om Ja.,.?c.o ¢



100 kg H,0

min ) . *
! . .
- ‘ a .

*0

g pl e
(steady) LL vuws
(unsteady) oLl eww

System
boundary
100 kg H,0
min
100 kg H2° S0 kg Hzo
min min




laai) i g5

* ’.’ *
* ’.’ *

*e
00‘ £22 £2

G o .



sala 43 ) ga ( JS ddilaa

§39,57 79,7 tIJFmS pan = 0ol e

oole gz jlade=l, Loy jo oo lade 1) loj jo oole ke

S350 Qo> > Oboa

>N
Cd

7




b /A Jgame a0 ol G, Sol Cans &S ) 18

i Ja sla o8 e

O psgde S0 g Al &) gea il & ()

s (51a ) e (3 S il g bl 8 Silad s 5 (Y

e &y g e Dlal 45 4a 55 L e Gl s ol slaasl s 5 dlac ] daale (Y
lse il (¥
(

(

19

U sene sl jial L dlaxs Cpue
Y alre o&iid Ja 5 Jilae Y alza pund (7

\ 4




Yoles ®

3,5 oolaiuwl Jlgw g0 0 09290 Sledlbl 5l lei o (V

o w5l o) Rl ol 2 el sem b (Joe S Egemme &5 Jal Gl (Y
S5 eolawl oylgs



VO 5 VO sy & Jgamme Gl 58 s 9 QST cdale ally (oo Silony 9 Jgaze bl (295 0L

4 a3l (695,9 Ol Hlade wo e A Gl (@ jlaie &5 (S50 50 wlewy L2 (e S Bl (oo vy

Yo2 3 59) Cewsd
w
YN2
V5, =02y
4 \
F_ s, P
YN2 —?-79 \ R
i rd 1 -
\ 1 y5, =025
\ / P
\ U —
> S YNz =075
S\ /
\\\\ ”,/



@ﬁA\P@_AJ\Aqﬁjq\ﬁ@uo\;)a%Jqﬁma\_’gﬁt@i\-dp\nn kg i aa 3 1lia
W‘)Jvﬁ.\s.l)u@bué%\_\\JJJSM&S%&MQMJSM\oJJJLv~~~ kgdjjgug\c_i.as
a1 oA ey ) ol Oy g s 3 s Sl S (5 JDlad) JiShaa (5l o3

(°C) L2 | Bnazc03/100 84450 e ——— -
v "7”’ Soo .
,,/ \\\
) s X7 7 .
\
/ \
Y. YV/d .' —
: a )
Y Y AJA \ ;

-
-






(o i) g 4y da g je 2 lia

S e da gy pe o gl S T laie 4y (WS

Dllons 5 (6 5005 sl (b iy a5 L Bl 55 o 53 05U S Dllons plo
Al o G e aS

(Ls edins 2S5 ) adsl ol pe oS Sl 1 5 25 o)) et Al Do o el S sl 1 S0
.LL.E.&'Lmh_s:-_-_g)::-J.‘ﬁ_gﬁ-l.."irf'l.a:-.ﬂ.L.a}.‘i.L.ar.hﬁﬂjj#1:&ﬂfﬁrﬁﬁh§ﬁ:§:’;ﬂ1%ﬁj¢:
o 5SS s e 4550 e 3 Ve g ol T el Sl S8 ol Ll 3505 3 0 5 J gt
Al bl Al s eSS e Ul &

input

products
(rf?aj tants) (output)
N C.D
B 3 ’

A B




5 _sia S sl Sl
:@1ﬁjJn}g¢$T&&5¢§i};uT:Jm

CaCO, MgCO, else(insolubb)
92.89% 5.4% 1.7%
€387 oy ST i 55 51015 o oS ST ki gy i
Ca,8l Cmd SAT S Ly 2l lly v CO, <s 4o ic
¢ ol p3Y SaT 5 e J ol , &T&Ai%::‘
el 40 2000 Jsles o5 a e b

[CacO,——ca0 +CO,

P’ '_-LJ - A 4
Sal L5 sl 51 |Meco,——Mgo+co,



2R A andS Gl K g AY/A Sl S digy Vov 8l (@) da

Sl Y5 GRSy 53 ead a5 g sana il gl 58 (S Al (g0 Hlase (@

(@



N;

& S e o . v . PO IR S o A [

—Njo

Vi

w\ﬂy@b@b

)Os‘)}"ﬁlxy.’ LS‘)"Q”"S‘ﬁ‘*"‘S)"M c\.>)d ¢

AN SHA | dpana
N, 100 g ¢

H, 50¢ ¢

NH, 5g 90 g

rmh;ﬁkja-ﬁh}fmuaujv 1jj.>'l...u J,.n.‘:jf;.dif

-

Ayl Cawo a |y STy C8 i a0 Sl gy 18 a4 OY gase

._:Ij-L;._J]ﬂu)LL.{'.adga-L_wJJj & o e l—_-ml‘1l-_._u_-n&)||)—_-uﬁ"h_:::‘ fhbujvﬂ;‘j:@'ﬁélvl.ﬂ'm

el OV DLl 05 o YL S

- " B e - =
] = .....*'"qu"“"‘ 1} D

3 e plewl Bl Lele leslad Lo



o Amalan aay Sl GS) 5 Gl da ) jlaae S5 | el el )y e
D 28] 62 52K 3 gana o35 gk S i AJL A0S (g yieS Hlase plS a2l

é:max _ 0- ni,O

V- ~ L/ o
! rstbial o2 gl S T da j) e
Inlet excess reactant — reacted
% EXxcess = ——*100
Excess reactant for recation

% Excess Air(0,) = Inlet Alrsi(?o\z')r(_C)StSAlr(OZ) *100
Air (0,

S N s S a5 S Jle

T
3gmole CH ,—— ——0.5gmole CH,
8gmole O, ——



0AiLS Bgusme 6X5gh S 5 3l (6 S b o0t Sy (eSS 4 y0) bos copo ®
o _Mo—Ni _ & Deds (o0 oS Jgazme 4y a5
= -

ni,O gmax

Colacl Jyaze 4 Collas Joame lo 5o S jl e jle i pdy A S

MJL@J_,_#-.&J}AJ'MErf:-j“#';ﬂrﬁjimiga_}a#ﬁ%;jigil;f}:.1 :od)’l.g °

Al 33 3 gy i ph S5 s OGSt 51D gl ek ph S 5 S Sl L p s

MLHMWEH&LJJ;# H,.a-‘.:.w'n:-u.a ] Vwb1j=:jﬁﬁddjﬁmj=#ﬁ#£

ksl Jgo 0,5 ¢ 10 4 Q'}ﬁ)%‘f Joe p S Y ST 5K ks o ly py sle (2aSTy : L
C,Hg > 2C +3H, Syl caws ) st a ()5 G pdy Gio S 0l oy
C,Hg =>C,H,+H,

da



Sl S) g Lol pan sala 43 ) 44

599,57 79,7 tidgSpas = osle e
T 97=809 )5Sl 93— pas

ol ALBl bl (ST SO A Slejy JS 9552 0 djlge aloles ©
ni‘out - r]i‘in + gvi

Zni‘out - Zni‘in +Z§Vi

ol Bl Sloody (iiSTlg iz a5 Sloy S 9552 0 dijlee ddoles

out ‘m +Z§kV|k
Zni‘out :Zni‘in +ZZ§kVik



G STy plsl 5l &5 SLS 5 Canygd 0 K G ol s sla STy L
)‘ &@@4\5&)9 u;‘lauY}a.?m (':.3)9; Lgl.u.,o).a ] 5 )‘).94\4%»‘ 0dw ] Cewd
..LMS ML?LA ‘) 5 d)‘}n Q)‘JJ S92 J‘)P o UYM

€5 10 0929 ;955 1, a (699,9 STHsm 10 hgp 9 L Joo vz (]

Qw .. . oon . o

C3Hg +Cl, — C4H:Cl + HCI [l IS 008 350500 09l S 53 (<
Q & o .

C;H¢ +Cl, — C3HCI, £045 oo pows CaH5Cl & CiHg 5l (5 S 4> (7

foel jadz pgo g Jol STy Cd iy 4z p0 (o

o
- -~
- S

C.H, re = N ng . =651 gmol
'I./ > \‘! . ng,, =141 gmol
l._\ S ,’: p 1 NCm.ci = 4.6 gmol
Cl, \\\ //' NG h.cl, = 24.5 gmol
e el Nhe = 4.6 gmol




(<l

AEL e 023K 3 gana 0 gl S YT IS sl iy 44 sl a4y da 5 b (&

(@



LSA‘))?; dS | LSOLfQ—‘ u‘*‘Sbgs*""“l")Lf)‘ H,S Qd;b.? LS‘)? LSQLQ-‘WM-’ Lgl.@M‘Js)‘L;;JLA
Ol woy0 At g (359,008 Sedlgm 0o )0 Ve oo oS 5 L 636 Gl sl Gl (o2 sl B
ol 8,595 Wgy B ee (2oy> )0 WS o0 e8]y 9)ly Lalls 9568 sl 6o Gl Sl L,
Aedlgus 40 Of Cad 5 (595000 Sudlg 430,555 ST (63 la Jgo o (puizeen 09 oo St
0digdh oS 5 o liee ool Sl SleMbl 4y az g b cnl Vo 9 ¥ ol 5 4 (29,5 58 50 (g0

S,yg] Cawd w1y Jpame (0 syl S Jae lade g 00isS Sgamme

2H,S(g) + SO, (g) —> 2H,0(g) +3S(s)

T —
-

. 0 ’,”’ ~Ss -
HZS. 20 /0,,,' \\\ n =)
. S
CH,: 80%" _ ;S
F rT ; s | nf
1 l' 1 - nHzo
s /I P P
T / n
F2 \\ /, o
. A % P
50,:1009%+.- Ngo,
S: 5000 Ib
\ 4




1) nj o =0+52.1x 2 =104.2 Ibmol
2) N5 = Nii g +52.1x(-2)




Jsiie JalS st (sl i€ 80 Sl 50 1) ) csthai 5 slhaa sla (iS) 5 1l
dRd Ol ome AiS a d Grinad 290 HsS)) Al a0V @l e ¥ L Jsilie canalle b 4
I ot a5 5 22 VO s e o 55 salls Al 0 5 30 % Jsiia

1 € it <l L :
CH3OH +>0, > CH,0+H,0 A Gt 1 S ) oA
1
CH,0+-0, - CO+H,0
2 i
P
—————————————— CH,0
7”" Soo p
F: CH,0H 100.94 TN NH,0
AR * P
7 \ _] Nco
L, PP ng
i > 2
\ /
. . o/ / =)
A: 0,: 21% . S g,
NZ 79% \\\ ’,’ p
R - nCH3OH




1
NG, =2xnNg, o = 2%5 =1 gmol

A Z021A= Az gmol
o 0.21

= 3.76 gmol

n =0.79x 1
N, 0.21

Non =1+&(-1)+&,(0)=1-0.9=0.1 gmol

ngHZO
nCFH3OH
NGh,0 = 0+&1(L)+&,(-1)=0+0.9-¢, = & =0.15

N, o =0+0.9(1)+0.15x1=1.05 gmol

=0.75= Ngy o =0.75x1=0.75 gmol

N&o =0+0.9(0)+0.15x1=0.15 gmol

ng, =1+0.9 _10ag -1 =075 gmol
2 2 2

ny, =3.76+0=3.76 gmol



Gt Cun glhan 36l e aladl ) (S) g (Gl (la () sl JIS G
%DMSJJJMOLJMUJS}JJMU‘)MJS‘JWL;\M&_US}
Sl ) D84 S ) a0 QLS 5 (Jse a0 5 7Y

N, 10%
cl, |50%
CH, |40%

CH, +Cl, — CH4Cl + HCI

—————
“““““““
- ~

— P
s NcH,el

’/
,/
F: i
| B
A W
\
F 0 5\\
yai, = N T
Fo_
yn, =0.1
F
Ych, =04

P
Nycy

da



nCH4 out — nCH4 " +§VCH4 — 40+268X(_1) :132 ngI
Ny, | = Neiy| +&ve), =50+26.8x(-1) = 23.2 gmol
M| . = ”Nz\m +&vy, =10+ 26.8x(0) =10 gmol

+SVen,cr =0+26.8x(1) =26.8 gmol

nCH3CI‘Out =Nenger|

Nhcl| oy = MHal | +&Via = 0+26.8x (1) = 26.8 gmol



Sras b oy plend Sly (byolie &Sl azgi b
:Qg.g A.Qb}
539,57 579>
oolaiwl b8 o lean iy dijlae aloles lgs o polic oloxs a



“‘u"JL’ UJﬁ)M‘SAS‘\-’ QGJL> uLS‘ &5\;9)4& 5|9J' . ).JLJ JL@

.

BT g Higy0ee (e Cod fpoad Canngllae el 5 )18

F (CaHya) l G (Hy) o
Lab
Reactor
_Product P
19.5% C4Hg

= 59.4% CH,,
21.1% CgHy,



Qualitative
Concentrations of CO, HC, and NO,(ppm)

5 gl ai 3

il oo Bl 0gd go 655 adg 4 pmie 4 5ST g olge o ST

CO Hydrocarbons

e

Deficient air _ ‘ Exess air
(tuei rich) Stoichiometric  (fuel lean)
air-fuel ratio

Air-fuel ratio

:J.olf d‘)“?‘ u.u..f‘g QYM ¢
5L o H,0 4, S0, .CO,

:uaél.i (_’9").’1&4 QYW
CO



Gl 248 ) ot S 5 L (K Jle ) lae laad o&il S 0 1dl
= = J}»GAOJJ\)}»L_U.&\ SUEA

o S N O H C ‘-"‘JJ'

V, vy IV e A 2 i ","‘Q /\Y/’.Q P05

YY¥ d)ja JJ unJLAJ\Lj\AJJ UASJJJ J\SLM}.\A («_i.u; Lg\_u.q )4) c_i\.u‘)\ 4.1);4

7

L_Lu.a\‘).\‘)ﬂ_\‘)jm‘\_iﬂ_\cu

0 co Cor ¢ Sop . ( ,J
Ny r
5 /S,\“T >
Ab/a ‘LI o O/

S8 )8 ag A 2k e ShR gl a8 a4l a8 e/ FA
g ooaly Sy K Jle Slawy % VY AL e daadilewy 5 Bl ) Jaala
Jpana G e () et Coig llas alis GileDal 4 aa i b Gl usSlA ol
&Md\f—je)g\" &\ﬁ&\)ﬁ;\%@ddeJ‘ﬁ\ﬁjmgﬁmgccsj@

tbal 6l s da ja (o Sda



MZO0OIT O

g

83.05
4.45
336
1.08
0.70
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Mol fr
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Stack gas
P{g mol)

man\\

Added H,0 0.0048 glg air
H: 0.0154 g mol/mol 4
0: 0.0077 g mol/mol A
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CO,+50, 154
cO 00

0; 4.0

Nz 806

100.0
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My, o =100*0.0048 = 0.48¢

0.48
Nh,o = BT =0.0267gmol

no, =0. 21*1205 =0.72gmol

ny, =0. 79*1205 = 2.72gmol

!

0.0267

0.0267+0.72+2.72

0.72
Yo, = 247 =0.207

ne =272 _ 0784
N2 347

YH,0 =

=0.0077
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C+S5:(6.92+0.022) +0*A=0*W +0.154P + (0.0896 + 0.0003)
P =44.5gmol

N:0.077+2*0.784* A=0*W +2*0.8%44.5+0.001

A = 45.35gmol

C+0, >CO, =ng | =6.92gmol

req.

=0.022gmol

S+0, » 350, =ng, e

4.41

-2 _ 1.1gmol

req. 2

No =6.92+ 0.022+1.1—% =7.94gmol
2

2 lreq

1
H2+§OZ_)HZO :>n02

* _
% excess air = 49.3570.207 — 7.94 *100=18.5%

7.94
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= 2) =2 gmol
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Total : 221.05=B+D

= B =186.1,D=34.9kg/h
Acetone: 221.05*0.19=B*0.04+D*0.99
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Np:84.93%  Slack Gas | Woter
0,' 4.13% P 6205 W 100% H,0 Y gena @
50;: 0.10% Ib_mo!
C0p: 10.88% «  br ¢ AT«
100.00% F I G A A
E
Ar: — A*0,:0.20
4 ﬂlfﬂ.zl ‘ H!:Q.TE
Ny: 0.79 | Gos Ol €0,:0.04
1.00 | Furnoce Furnace 100%
— e
Not. Gos t - Fuel O
CHy: 0.96 molfr | C:0.50 mal fr
¢ | GaHa: 0.02 mol fr (£ Hy: 0.47 mol fr
) C0x:0.02 mol fr ] S 0.03 mol fr
1.00 100




In
2H: G(1.94) + F(047)
2N: A0.79) + A%0.76)
20: A(021) + A'0.20 +0.04)
+ G(0.02)
S: F(0.03)
e G(0.96) + (2)(0.02)+0.02
+ F(0.50) + 0.04A"

F = 207 b molhr
G = 499 |b mol/hr

Out

w(1)

6205(0.8493)

6205(0.0413 + 0.001 + 0.1084)
+W('/)

6205(0.0010)

6205(0.1084)



A two-stage separations unit is shown in Figure SAT11P1. Given that the input stream F1
is 1000 1b/hr, calculate the value of F2 and the composition of F2.

0.01 Toluene 0.95 Tolvene
0.99 Benzene 0.05 Benzene
PSR S P ~
! P on-t ~
—" ~
11 \
1) \
oo :
—_— —_— 2 |
0.4 Toluene \{ )
0.4 Benzene |\‘ /l
0.2 Xylene ~
' : AN VN 0.70 Toluene
I P 090 thne
N F2 -7 :
~__"re _- P28 Figure SAT11P1

1000*0.4 = 0.99* P, +0.05* P, + = P, = 222.221b, P, = 3841b, P, =393.62
1000*0.2 = 0.9% P,

1000 =384+ F,

1000*0.4 = 0.99*384 + w52 *F,

1000%0.2 = wy? *F,
FZ —

.= F, = 6161b,wr? =0.032, wg? = 0.325, w2 = 0.643

FZ
=1- W —Wpg
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N2
Hg —{ Reoctor o Seporator | NHsy {Liquid)
Ar

A
Na Ha, - Pyrge (Gos)
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100 gmol/s 1000 gmﬁlfﬁ

A

-1 Reactor

10% 8

90 % A

Saperator ——>»

900 gmolis A

1. Overall fraction conversion:

100 gmol/s
B

mass (moles) of reactant in the fresh feed — mass (moles) of reactant in the output of the overall process

mass (moles) of reactant in the fresh feed

2. Single - pass (“once - through”) fraction conversion:

mass (moles) of reactant fed into the reactor — mass (moles) of reactant exiting the reactor

mass (moles) of reactant fed into the reactor
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100+ R*0.2274 = ngr
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Overall balances
Toral: P =§ =100 kg (How simple!)

1
Consequently, R = % = 12.0 kg

Overall no water is generated or consumed, hence
Warer:  100(0.60) = Pwf = 1000f
wiy = 0.60
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100 = P +W
S U 4331 5 — P =11.1kg, W =88.9 kg
0.1*100 = 0.9*P
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*12.2 Find the kg of recycle/kg feed if the amount of waste (W) is 60 kg of A.

R (100% A)
Feed (F) \ @ - ‘ e p AS%W
40% A B 95% wt

A 20% wi

B 80% wi

W =60 kg
100% A



